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Show all work, including mental steps. in a clearly organized way that speaks for itself. Use proper

mathematical notation. identifying expressions by their proper symbols (introducing them if necessary),

and use arrows and equal signs when appropriate. Always simplify expressions. BOX final short

answers. LABEL parts of problem. Keep answers EXACT (not decimal approximations).

O Ly=0*y= (D+)(02-D+ )y = B+)(0— [+ FIO-T£-13Dy
Wrike down the gencm‘. soludion OJ‘: L\j:O G'r: CXPHCIJ('B pcal form)

@ Ly= 0*-2D2-Dr2)y = O-N(O-2)0+ )y
Solve the inihal value Pnﬁem L9 =0, 9{0}"{ BinN=0= k:j""'(l:‘v) s -fhrecs\-eps:
a) Write down the general solution.
b) Write down Hre system OE equations necded to determine the qrbi‘c‘r’ag constnts |
¢ Wrte down the curresponding augmente ct satx and use tedhnology fo reduce i
(omP\elcelg (wnte dawn the ‘rcSuH') and sove i+ Be sure Your fl-‘ﬂal answer
= (s ﬁxl{\j evaluated and boyged.

@ chrecierstic 130 (oo (BHR)(r= (3780 =0
cgqu oy ! -

FDUJ\'S: r=—\ 5 -L:l:LG/z ﬂmuen%w
exps S AL Qi r’)
H
general solufton: [“J___ ce "+ X2 (e, s .}Lx 4 C St ><)J

@aj characlenstic (r3_2r2~r+2) = (r=0(r=2(t+) =0
equafion : ot 0= (2,00
expsf e¥ % o
_/____)__,__._,L—— -
X
9enem\ Soluhon 9 — C[E’, + C7_€. + Cg@_

rref
X _ = o0 |
b y= gefeqe v oge Yo =[C +Cery =4 :j&_\lé OV 6 -y
y'= cerv e t-Ce vl = el 7 g - 1410 VO V3
pu— + =
9”—:: C,I‘eY’réfC?lezx 'FC;G, x 911(0) =| Cialer s =\
Ce=-V/3
X “X\ C3= /3




